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| ONLINE MATHS CLASS-X- 37(29/09/2020) |

| . i
i Chapter 3 — Mathematics of chance |
|Let's discuss practical situations related to the idea of chance , I

!1. Coin is used to tossing in a cricket match .We can not predict early whether it is head or tail . I
| |
| We can only assume the result . i

!2. While throwing a die in a snake and ladder game , we can not predict early which number is
| |
i coming upward . Here also we can only assume the result . |

| Mathematical analysis of cases where the result can not be calculated accurately , is discussing '
| |
in this unit .

iThere are 9 red balls and one yellow ball in a box . If a ball is chosen without looking , it |
|

imost likely to be red .
iThere are 8 red balls and 2 yellow balls in the second box . Here also if a ball is chosen |

| i
iwithout looking , it most likely to be red . I
IThere are 5 red balls and 5 yellow balls in the third box . Ifa ball is chosen without looking |
!it may be red or yellow . I
| |
i For the first and second box the chance of getting a red ball is more . From the third box , |
i i
i chance of getting red ball and yellow ball are equal . :
I |
i i
i Let's try to analyse mathematically such situations i
i i
I1. Five black and five white beads in one box . Six black and four white in another . One has |

choose a box and pick a bead . If it is black , he wins . Which box is the better choice ? '
| |

| Here each box contains equal number of beads . ( Each box contains 10 beads ).The second |

! box contains more blacks . So we have a greater probability of getting a black from the second I
| |

ibox. |
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12. Six black and five white beads in one box . Five black and four white in another . One has

|
choose a box and pick a bead . If it is black , he wins . Which box is the better choice ?

i]btal number of beads in firstbox = 11
i
i

E of total beads is black
i 11

|
: Total number of beads in second box = 9
|

i g of total beads is black
.

i 2 s greater than 6
9 11

i
i Second box has a larger black part . So the second box is the better choice to win the game .
i

!( In other words , the probability of getting a black bead from the second box is larger .
|

' =4

| of getting a black bead from the second box is % )

|

:NB :

i 6 - -5

: 11 -~ -9

|

i 6 X 9 5 x 11

i

. 6 5
i 54 < 55 ==> o <
| Conclusion

: 6 :
iFurther , the probability of getting a black bead from the first box is 11 and the probability :

iThus the probability is mathematically analysed by converting it into number by calculating howi

Imany of the favourable outcomes out of total outcomes .
i
|

. Probability = Number of favourable outcomes
! Total number of outcomes
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El. Numbers 1to 25 are written on paper slips and put in a box .One slip is taken from it .
| a) What is the probability that it is an even number ? |
: b) What is the probability of being a multiple of 3 ? |
i c) What is the probability of being a multiple of 6 ? |
iAﬁM . |
: Total number of outcomes = 25 |
| a) Number of favourable outcomes = 12 |

! ( Here number of favourable outcomes is the number of even numbers )
| |

i Probability = Number of favourable outcomes = _12 |

i Total number of outcomes 25 i
Ib) Favourable outcomes = 3,6,9,12,15,18,21,24 i
Number of favourable outcomes = 8

i ( Here number of favourable outcomes is the number of multiples of 3 ) |

| Probability = Number of favourable outcomes = _8 :

! Total number of outcomes 25 I

Ec) Favourable outcomes = 6,12, 18 ,21
| Number of favourable outcomes = 4 [
i ( Here number of favourable outcomes is the number of of multiples of 6 ) |
i Probability = Number vourable outcomes = _4 _ |
: Total number of outcomes 25

|
I2 There are 3 red balls and 7 green balls in a bag , 8 red balls and 7 green balls in another .|
Ea) What is the probability of getting a red ball from the first bag ?
ib) What is the probability of getting a red ball from the second bag ? !
Ec) If all the balls are put in a single bag , what is the probability of getting a red ball from it ?

|Answer _ . |

! a) Total number of outcomes ( Number of balls in first box ) =10
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i Number of favourable outcomes =3 '
| |
i ( Here number of favourable outcomes is the number of red balls )

i Probability = Number of favourable outcomes = _3 !

i Total number of outcomes 10 i

! b) Total number of outcomes ( Number of balls in firstbox ) = 15 |
I I
: Number of favourable outcomes =8

| ( Here number of favourable outcomes is the number of red balls ) !
| |
i Probability = _Number of favourable outcomes = _8

. Total number of outcomes 15
I I
j¢) Total number of outcomes ( Total Number of balls in two boxes ) = 25 i
! Number of favourable outcomes =11

| |
i ( Here number of favourable outcomes is the number of red balls in two boxes ) I

! Probability = Number of favourable outcomes = _11 !
i Total number of outcomes 25 i

i3. One is asked to say a two digit number .What is the probability of it being a perfect square ? I
| |
| Answer . i

!Total number of outcomes ( total number of two digit numbers ) = 90
| |

iFavourable outcomes = 16,25, 36 ,49,64 , 81 |

! Probability = Number of favourable outcomes = 6 = _1 !
i Total number of outcomes 90 15 i

| o e
:More activities ( Text book page 71)
| |

I( 1) A box contains 6 black and 4 white balls. If a ball is taken from it, what I
i 1s the probability of it being black? And the probability of it being |
! white? !

|

i(5) Abagcontains 3 red beads and 7 green beads. Another contains one i
i red and one green more. The probability of getting a red from which |
i bag 1s more? |
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